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DESCRIPTION / RETAILER INFORMATION
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YOUR  HINNING
NUHEBER NUHEBER PRIZE

51 51 $10-°V

= FTYONE FTYONE TEMDOL

353 53 81500 /

& FTTTHR FTYTHR FTHDOL

254 55 §50.00

= FTYFOR FTYFIY FIFTY

126 3K §150

= THEIX TIMES3 FTHDOL

©12 13 $500

& THELY THRTN FIYHUN

* 1l 58 $5.000

& FORTH FTYEGT FIVTHD

t16 17 $10-00

= SIXTN  SEVTH TEMDOL

=19 19 s15.0

2 NINTN  NINTH FTHDOL

§50.00

2 THOHE  TWTHO FIFTY

......... O o o SISW

................. Z THWFOR  THFOR FTHDOL

IN THE SAME ROW ACROSS: If YOUR NUMBER
matches the WINNING NUMBER, win PRIZE
shown for that row. Reveal a MULTIPLIER (2X
through 10X), instantly win the prize for that
row times the multiplier shown for that row.

IN THE SAME ROW ACROSS: If YOUR NUMBER
matches the WINNING NUMBER, win PRIZE
shown for that row. Reveal a MULTIPLIER (2X
through 10X), instantly win the prize for that
row times the multiplier shown for that row.
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EXAMPLE: SCRATCHED OFF TICKET SHOWING $100 PRIZE.
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WIN WITH

TOTAL PRIZE ODDS  0DDS PER TIER

PRIZE(S) OF AMOUNT (1 IN:) (1 IN:) g
S10 510 9.52 9.52 —
$15 $15 33.33 33.33 <X
$20 §20 40.00 —
$10(2X) 520 40,00 2000 g
$15(2X) $30 64.94 T
$10(3X) $30 62.50 31.85 =
$10(5X) $50 125.00 e
$10(4X) + $10 $50 125.00 TT]
$20 (24) + $10 $50 125.00 —
$15(2X) + $20 §50 40000 E
$50 $50 40000 34.48 T
S15(3) + (S15x3) + 10 5100 2,000.00 e
$10(10%) $100 1,000.00 ==
§10-+ 10 (2K) + $10 (34) + $10 (4X) $100 1,000.00 g
$20 (5X) $100 3,333.33 —
$100 $100 3,333.33 E
$50(2X) $100 3,333.33 29412 =
$50 (4X) $200 3,333.33 o
$100 (2%) $200 133333 7]
$15 (8X) + $20 (4X) $200 133333 —
$10 (8X) -+ $10 (5K) + $15 (4X) + 510 $200 133333
$20 (5X) + $50 (2X) $200 2,500.00
$20(10%) $200 4,000.00
$200 $200 4,000.00 289.86
S15 (4X) + 15 (5K) + 15 (6X) + S15 (7X) + $15 (8X) + 550 $500 10,000.00
$100 (5X) $500 10,000.00
$50 (9X) + $10 (%) $500 10,000.00
$50 (10%) $500 10,000.00
$20 (8X) + $10 (9%) + $10 (8X) + 10 (7X) + $100 $500 10,000.00
$500 $500 10,000.00 1,666.67 -
$10-+ 510 (2K) + $10 (3X) + 10 (4X) + S10 (5X) + $10 (6X) + S10 (7X) + 10 (8X) + 10 (9X) + 510 (10K) §550 10,000.00 10,000.00 ™
$100 (3X) + 100 (4X) + $100 (7X) + $500 + $100 $2,000 252,000.00 Tr)
$100 (10X) + S50 (8X) + 520 (7X) + $50 (6X) + $20 (3K) + $100 $2,000 252,000.00 -
$100 (8K) + $100 (9X) + S50 (3X) + $20 (6X) + $15 (2X) $2,000 252,000.00 3+
$500 (4X) $2,000 252,000.00 L
$2,000 $2,000 252,000.00 50,400.00 =
$20(9X) + 5500 (6X) + 550 (5X) + $50 (7X) + 520 (10K) + 520 + 51,000 $5,000 315,000.00 <
$100 (8K) + $50 (7X) + $100 (6X) + S100 (5K) + $500 (4X) + $200 (3X) + $50 (2K) + $50 §5,000 315,000.00 S
$5,000 $5,000 315,000.00 '
$500 (10X) $5,000 315,000.00 78,750.00 =
§5,000 (2X) $10,000 252,000.00 o
$1,000 (5X) + $2,000 (2X) + 1,000 $10,000 252,000.00 =
$1,000 (10X) $10,000 252,000.00 =
$1,000x 10 $10,000 252,000.00 (1T
§1,000 (3X) + $500 (9X) + $500 + 5200 (10X) $10,000 252,000.00 =
$2,000 (5%) $10,000 252,000.00 s
$2,000 (3X) + $1,000 (4X) $10,000 252,000.00 :
$2,000 (4X) + $500 (4X) $10,000 252,000.00
$500 (3K) + $500 (2X) + S500 (5X) + $500 (7X) + $15 (10X) + S15 (9X) + $15 (7X) + $50 (2X) + 51,000 + S10 $10,000 280,000.00 3:,
$200 (3X) + $200 (4X) + 200 (5X) + $200 (6X) + $200 (7X) + $200 (8K) + $200 (9X) + $100 (6X) + $1,000 $10,000 315,000.00 <
$10,000 $10,000 252,000.00 23,551.40 PX)

Use your OVERALL ODDS ARE 1 IN 3.95 >
ODDS VARY DURING GAME. PURCHASERS MUST BE 18 OR OLDER. E

EXAMPLE: SCRATCHED OFF TICKET SHOWING $100 PRIZE.




